Mastery Algebra 1 Sample Mastery Quiz 5-1 Name:

Per: | |
5-1 Rate of Change and Slope
Find the slope of the line that passes through each pair of points:
1. (-3,4)and(5,-2) 2. (-3,-2)and (-3, 4)
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Find the slope of each line:
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5. These points lie on the same line: (—2,8) and (1,y). If the slope of the line is—3, find y.
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5-3A Slope-Intercept Form

1
1. Findtheslope: y = — g = % 2. Write the equation of the line with slope 2
T and y-intercept — 5,
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Graph the linear equation: Write the linear equation from the graph:
2. y= -z-x -1 3 4. )
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5. Write the equation of the line with slope % passing through (-6, 4)
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5-3B More Slope-Intercept Form
In 1-4, Write the equation of the line described, in slope-intercept form:
1. y—4==(x-10) 2. —2x—7y=28
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3. slopeis —1, passing through (2, —3)

4.  passing through (—1,6) and (1,2)
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5-6 Parallel & Perpendicular Lines

For 1-5, write the equation of the line described, in slope-intercept form:

1. parallelto y = 2x — 7 and passing
through (—3,-1)
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2. paralleltoy = gx — 3 and passing
through (—3,4)
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3. perpendicularto y = —3x — 2 passing
through (—10, 3).
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4. perpendiculartoy = — %x + 4 passing
through (-9, —1).
g = g ® +B
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5. Write the equation of a line parallel to —4x + 5y = —20, passing through (8, 2)
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5-5 Intercepts Method
Graph each line using the intercepts method. Show your work!
1. 4x—2y=-8 [ Y4 2. —2x+4y =38 _}
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5. Graph a line that has x-intercept (-2, 0) and doesn’t have a y-intercept.
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